Postel 100x200cm
s uloznym prostorem
LOVELY

ACCESSORIE NO : 002

ACCESSORIE NO : 001

ACCESSORIENO: 271

ACCESSORIE NO - 004

ACCESSORIE NO - 020

[TiTus MINIFIX GOVDE MINIFIX MIL 6 MM TEK TARAFLI MINIFIX ML ®8x30 KAVELA MINIFIX TAPA
23 ADET 19 ADET 4 ADET 12 ADET 8 ADET

ACCESSORIE NO - 031

ACCESSORIE NO : 114

ACCESSORIE NO : 336

ACCESSORIE NO : 105

ACCESSORIE NO : 107

KARYOLA MENTESE M6*15 YSB VIDA STOPER M6*30 YSB VIDA M6*35 VIDA
6 ADET 26 ADET 4 ADET 12 ADET S ADET

ACCESSORIE NO - 334

ACCESSORIE NO : 348

ACCESSORIE NO : 350

ACCESSORIE NO : 477

ACCESSORIE NO : 476

MODULER BAZA MEKANIZMAS] BAZA PISTONU BAZA EMNIYET KILID M8*15 CIVATA ME*25 CIVATA
1000 N
1 TAKIM 2 ADET 1 TAKIM 2 ADET 2 ADET

ACCESSORIE NO :474

ACCESSORIE NO 472

ACCESSORIE NO : 124

ACCESSORIE NO : 121

ACCESSORIENO : 131

o
H B
nabytek
harmonia

M8 FLANSLI SOMUN MB8*30 YSB VIDA ME*40 ALYAN VIDA ME*S0 ALYAN VIDA 4mm ALYAN ANAHTAR
6 ADET 6 ADET 6 ADET 6 ADET 1 ADET
NO |ADET/PCS|OLCU/DIMENSIONS| NO |ADET/PCS |OLCU/DIMENSIONS| NO |ADET/PCS|OLCU/DIMENSIONS
ACCESSORIE NO : 462 ACCESSORIE NO: 133 ACCESSORIENO : 110 ACCESSORIE NO : 189 CCESSORIE NO ; 561 01 1 1048 X 1013 11 1 2014 X 338
BAZA SEFFAF KULP 3x16 PUL 3.5%25 MM S. VIDASI NOBLE AYAK 120'LiK BAZA DEMIR] 02 1 1008 X 90 12 2 496 X 208
; 03 1 1008 X 90 13 2 1018 X 507
04 1 858 X 393 14 2 1000 X 507
05 1 1048 X 480 15 1 998 X 995
h J 06 1 1104 X 98 16 1 998 X 995
07 1 429 X 92
08 1 429 X 92
2 ADET 6 ADET 6 ADET 2 ADET 09 1 2014 X 296
10 1 2014 X 296

PLEASE ORDER THE ACCESSORIES ACCORDING TO THE REFERENCE NUMBER ON THE DRAWING(EXAMPLE ACCESSORIE NO-008 RAFIX MIL 1.PCS.)

PLEASE ORDER THE SPARE PARTS ACCORDING TO THE REFERENCE NUMBER ON THE DRAWING









